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Unsupervised
Learning

A8
Supervised
Learning
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Clustering

HzHY 24
Assocation Analysis

3|7 E N
Regression Analysis
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Classification

M (Factor Analysis)
M(Discriminant
Analysis)

| A= (Support)
M2| = (Confidence)
SFAFE (Lift)

M(Correlation)
AR M(ANOVA)
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BX Open Source R 72

& 199340 718, 23H2| HA

& S ALt a2 -S st 22U ¢10{0| A}
AT ESL0f &3

& ZHE HEoH(Robert Gentleman), 24 0|57}
(Ross Ihaka)Oi| 2falf A|2}, 212 R Z.0{ Elo]| 7§

% GPL of0f| HjEE]= S 22U AHOo{e| HLeie s
GNU S2fi1=3sH(GNU GPL v2)
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BX Open Source R 72

© S7| ADEQ0] Lt A2 EMo| 2| AR
% I7]2]| 7L 80| > SABIALS ALO[oflA S
AZEQ|0f 0|l 20| ALRE

% Data 7}&, Statistical Analysis, Data Mining,
Machine Learning, Deep Learning, Visualization,
Spatial Analysis, Simulation, Optimization &
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> head(iris)
Sepal.Length Sepal .Width Petal.lLength Petal.Width Species

1 5.1 3.5 1.4 @.2 setosa
2 4.9 3.0 1.4 @.2 setosa
3 4.7 3.2 1.3 @.2 setosa
4 4.6 3.1 1.5 @.2 setosa
5 5.0 3.6 1.4 0.2 setosa
6 5.4 3.9 1.7 0.4 setosa

% = =(Species) : Setosa, Versicolor, Virginica

% Sepal, Petal?| 3 Z20|2 {28 5 Y= A 2O}
ofl'd CllO|ElS SE=2 5014 S 1507l jo|&] ¢
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> summary(iris)
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Sepal.Length
Min,  :4.300
1st Qu.:5.100
Median :5.800
Mean  :5.843

3rd Qu.:6.400
7,900

Max.

———

H =2 AlIH
'E!?'r1'454 =

Sepal .Width
Min. :2.000
1st Qu.:2.800
Median :3.000
Mean  :3.057
3rd Qu.:3.300
Max. :4.400

Petal . Length
Min,  :1.000
1st Qu.:1.600
Median :4.350
Mean  :3.758
3rd Qu.:5.100
Max.  :6.900

C|OJE] 7|=S A

Petal . Width Species
Min. :0.100 setosa  :50
1st Qu.:0.300 versicolor:50
Median :1.300 virginica :50
Mean :1.199
3rd Qu.:1.800
Max. :2.500
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(Random Sampling)
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#1E=2570%, 30%= AHM
ind <- sample(2, nrow(iris), replace=TRUE,prob=c(0.7,0.3))

# 12 ZLM HIO|E|E FE5HA] trof] {510 StSB2E 28
tr <-iris[ind==1,]

# 221 20t C|O[E| & =3l A ts0fl 2 Eat0] A

ts <-iris[ind==2,]
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EX 2244 230 of

> ind <- sample(Z2,nrow(iris),replace=TRUE,prob=c(0.7,0.3))
> tr <- iris[ind==1,]

> ts <- 1ris[ind==2,]

> partyl <- ctree(Species~.,data=tr)

> plot(partyl)
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Node 2 (n = 35) Node 5 (n = 34)

1 - 1
0.8 0.8
0.6 — 0.6 —
0.4 — 04
0.2 0.2

0 - T \ 0 \ T

setosa versicolor setosa versicolor
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0.8
0.6
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>4.8

Node 6 (n=7)

T \
setosa versicolor

0.8
0.6
0.4
0.2

Node 7 (n =27)

| \
setosa versicolor
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7 QTSRS EXS
> table(predict(partyl,newdata=ts),ts$Species)

setosa versicolor virginica

setosa 15 /) /)
versicolor 0 12 1
virginica 0 1 18

Accurary=(15+12+18)/(15+0+0+0+12+1+0+
1+18)=95.7%

Precision(versicolor) =12/(0+ 12+ 1) =92.3%
Recall Rate(versicolor) =12/(12+ 1) =92.3%
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> table(predict(partyl,newdata=ts),ts$Species)

setosa versicolor virginica

setosa 15 0 0
versicolor 7] 12 1
virginica 0 1 18
& QESHOE Al £ 1, 2R 0f|S A] -1 H| S 2HE
& olo|2 1507 & ol-E'.l-_|_ SltH 33.3%+—= &5t

LIHA| = &X 2-FollM H| & &8 —

= 2 A TTIT

491 33,3, H|2 66.62.2 -33.332] £&4! HtAl
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> table(predict(partyl,newdata=ts),ts$Species)

setosa versicolor virginica

setosa 15 0 0
versicolor ) 12 1
virginica ) 1 18

& 28 0|2 A| Accuracy= 95.7% — 52 95.7,
H& 4322 91.49| 0|5 WAl

| 2 O

-33.333} 91.49| 2}0|= O} 21
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